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(0) From £gn.(1-1.57) .

P :ZQ X (a/r)caemef[wtﬁmrﬂ}'r&‘]
where. (o€ Oa = k.

2 () =Rl  (1.12)

T cpecific acoustic :mfaedancﬂ-

Ko=1, wtb=t, 9&-—

(6 Cuater :1-4?><|0 (Fa-s/m )

Z)= lq?x(o‘ (,cr:.(-?é)e";@"E
= 0 xiot ([+j) (Pa-S/m)

Atoustic intensiTy

T= TRCUX(VF)eaba  (7.1.6)
For  Ka <<l

L = 3RCU (a/r ) Cka) 7. /.8
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®)  From Egn. (118) , for  ka<<|
I =3 ACUZ (o (Ka)®

Rodiated sound power,
T= JI ds

= LpcUl(ka)* 4ma*
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(o) Enlr-n). 27 (kasp)
'P(v.e t)-—-P.cu,% Kal- e
ejwt-n)

Sut the “"5“(" dependent tevm #o 2er,

= ], (kasthg)=0

_F'VWSD\MWE’QGG:

kas«w, Ju=3.83.
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(b) va Egn- (7-94).

'P(v.o t)— P. cua{ 1~ expl- 7k(ﬁ+?-ﬂ]j
e) ) Lodt = let)

) ""‘"‘b be 2evo.

l " éﬁ]’[")"i( Ve w]=o
-‘7 lc(,.ﬁi——-v)-znn (n=l-2,+)

y tha gresdect findte nodal distance .
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ly.cc _
(0) For o circular pisten, onaxis pressure
litude, (T145)

pir,o)= 2R clh I ﬂ""{s{'k‘f[m"”}l
=38e0 Jan Yo -1 (7Y I

G)) The presSure. QMP/JTuJ.e on the GX< hls-
asymptvtic form

Pagg(r') = —:L:RC'Ua (O/Y)KO\ (747)

: I
Ko=_3, Yoa= /697 , o =056
cas 6, vaz2ad |, Heso03a
= lll F/o. = ¢,049 ; % = 0. 337

(C) acoam, +=twtole ,c= /48l mS

¥/

Ko.23.39¢, Ha= 1161 , o= =05
r=0353m




HW5 Problem 7.4.6(a)
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HWS5 Problem 7.4.6(b}
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HWS5 Problem 7.4.6(c)
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